NR=ZATUAVS

Or—54>7
TUXAVS

(ERON)’

HOLD CLAMPS PAT.P No.E-335
W —_~

"—ILROSS

S50C B AHRC50

AEBEE  RIUNTFYNERSD

@\ EIELYF At

@ A 51 R T

@AV NER Ch I E
OU—U LB EENTIEER/INT
O ENIEN T CREAIFHKAR
@ —UDF EUBAIEEEST I

o

b
“—)u

-
LM T |
S

[ i e Rl RS

\Yi

F—5"—No. No. BaTEM: A 0 B . C | D

E F . G@H) - H : | Jwos K & L@EEE)

15659 HL3514T 14

90 35 45 23

22 16 M10X1.5: 54 = 40 © 23 = 17  M12X1.75

15660 HL3516T 16

90 | 35 : 45 : 23

22 16 \M10X1.5: 54 : 40 : 23 | 17 : M12X1.75

15661 HL3518T 18

90 @ 35 45 @ 23

22 016 M10X1.5: 54 : 40 : 23 i 17 :M12X1.75

TROvhFwh
No. - - - ; BEkg A&
\ : W X : Y : z

Pk 44 22 8.5 16 135

HL3514T 1.7 27,900
A/ \—EB 44 22 8.5 16 13.5
IS5V TE 44 25 8.5 16 15.5

HL3516T 1.8 28,600
A/ S—2B 44 25 8.5 16 15.0
ki 44 28 11.0 19 17.5

HL3518T 1.9 29,400
A/ S—EB 44 28 11.0 19 17.5

ol .|

7

Eor Ty T ey %
Z

7.

EEAEF

D=0 D2EEAHTF

—JIBEE

NI
rh

http://www.nabeya.co.jp



	F214J_0198

